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Note : Attempt all questions. Marks are indicated 

against each question.  

 Attempt questions 1 to 5 in about 500 words 

each : 5 × 10 = 50 

1. Describe in detail the socio-cultural personality 

of India.     

OR 

Describe in detail at least five important 

characteristics of Indian climate. 
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2. Write a detailed amount of land degradation 

and highlight its three components. 

OR 

 What is multi purpose River valley multi 

purpose project ? What are its important 

objective ? Discuss in detail the characteristics 

of any two projects ? 

3. What is Green Revolution ? Discuss the main 

objectives and critically highlight the positive 

and negative impacts of Green Revolution in 

India. 

OR 

 Describe in detail the recent trends and recent 

developments in industrial sector of India. 

4. Write a detailed amount population grow in 

India since, 1901 to 2011. Illustrate your 

answer with suitable diagram.  

OR 

 Define rural settlement pattern. Describe in 

detail any four rural settlement in India.  
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5. Write a detailed amount of Sopheri Scheme 

socio-cultural regionalization of India. 

OR 

 Discuss in detail the assumption and schemes 

of Economic Regionals ASOK regionalization of 

India given Mitra. 

6. Attempt any five of the following questions in 

about 250 words each : 5 × 6 = 30 

 (a) Discuss the origin of Himalayas. Highlight 

 the significance of Himalayas for India. 

 (b) What is drought ? Discuss any two types of 

 drought in India ? 

 (c) What do you understand by Land use ? 

 Prepare scheme land use classification. 

 Discussing four landuse type six out of 

 mine-fold classification of land use in 

 India. 

 (d) What is a mineral ? Define any four 

 characteristics of minerals. 
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 (e) Critically hightlight the spatial constraints 

 and challenge transport in India. 

 (f) Define density of population ? Discuss the 

 pattern of distribution of population 

 density in India ? 

 (g) Differentiate between topography and 

 physiography. 

7. Write short notes on any five of the following 

questions in about 150 words each : 5 × 4 = 20 

 (a) Ganga River basin 

 (b) Factors affecting natural vegetation of 

India.  

 (c) Any four uses of water resources in India. 

 (d) Deforestation 

 (e) Solar energy 

 (f) Vishakhapatnam-Guntur industrial region 

 (g) Urban alllomeration 
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foKku Lukrd (lkekU;) (lh-ch-lh-,l-)  

ch-,l-lh-th- (lh-ch-lh-,l-) 

Hkkjr dk Hkwxksy  

twu] 2024 

ch-th-th-bZ-Vh-–141 % Hkkjr dk Hkwxksy 

le; % 3 ?k.Vs   vf/kdre vad % 100 

uksV % lHkh iz'uksa ds mÙkj nhft,A izR;sd iz'u ds vad mlds 
lkeus bafxr gSaA  

  

 iz'u la[;k 1 ls 5 rd ds mÙkj (izR;sd) 500 'kCnksa esa 

dhft, %   5 × 10 = 50 

1. Hkkjr dh lkekftd&lkaLd̀frd O;fDrRo dk foLrkjiwoZd 

o.kZu dhft,A 

vFkok 
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 Hkkjrh; tyok;q dh de ls de ik¡p egRoiw.kZ 

fo'ks"krkvksa dk foLrkjiwoZd o.kZu dhft,A 

2. Hkwfe fuEuhdj.k ij foLrr̀ ys[k fyf[k, ,oa blds rhu 

?kVdksa dks Hkh mtkxj dhft,A 

vFkok 

 cgqmn~ns'kh; unh ?kkVh ifj;kstuk D;k gS \ blds egRoiw.kZ 

mn~ns'; D;k gSa \ unh ?kkVh dh fdlh Hkh nks ifj;kstukvksa 

dh fo'ks"krkvksa ij foLrkjiwoZd ppkZ dhft,A 

3- gfjr Økafr D;k gS \ Hkkjr esa gfjr Økafr ds eq[; 

mn~ns';ksa ij ppkZ dhft, vkSj blds ldkjkRed ,oa 

udkjkRed izHkkoksa ij Hkh vkykspukRed izdk'k Mkfy,A 

vFkok 

 Hkkjr ds vkS|ksfxd {ks= ls lEcfU/kr gky ds izof̀Ùk ;k 

:>ku ,oa gky ds fodkl dk foLrkjiwoZd o.kZu 

dhft,A 
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4. 1901 ls 2011 rd Hkkjr dh tula[;k of̀¼ ij ,d 

foLr`r ys[k fyf[k,A vius mÙkj dks mi;qDr vkjs[k ls 

Li"V dhft,A 

vFkok 

 xzkeh.k cLrh izfr:i dks ifjHkkf"kr dhft,A Hkkjr dh 

fdUgha pkj xzkeh.k cfLr;ksa dk mi;qDr mnkgj.kksa lfgr 

foLrkjiwoZd o.kZu dhft,A 

5. lksQj (Sopher) }kjk izfrikfnr Hkkjr dh 

lkekftd&lkaLd`frd izkns'khdj.k ;kstuk ij foLrr̀ ys[k 

fyf[k,A 

vFkok 

 v'kksd fe=k }kjk izfrikfnr Hkkjr dh vkfFkZd 

izkns'khdj.k ls lacaf/kr ekU;rkvksa ,oa ;kstuk dk 

foLrkjiwoZd o.kZu dhft,A 
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6. fuEufyf[kr esa ls fdUgha Ikk¡p iz'uksa ds mÙkj yxHkx 250 

'kCnksa (izR;sd) esa nhft, % 6 × 5 = 30 

 (i) fgeky; dh mRifÙk ij ppkZ dhft,A Hkkjr ds lanHkZ 

 esa fgeky; ds egRo dks mtkxj dhft,A 

 (ii) lw[kk D;k gS \ Hkkjr esa nks izdkj ds lw[ks ij ppkZ 

 dhft,A 

 (iii) Hkwfe mi;ksx ls vki D;k le>rs gSa \ Hkwfe mi;ksx 

 oxhZdj.k dh ;kstuk rS;kj dhft,A Hkwfe mi;ksx ds 

 fdUgha pkj izdkjksa ij ppkZ dhft,A 

 (iv) [kfut D;k gS \ [kfutksa dh fdUgha pkj fo'ks"krkvksa 

 dks ifjHkkf"kr dhft,A 

 (v) Hkkjr esa uxjh; ifjogu dh LFkkfud ck/kkvksa ,oa 

 pqukSfr;ksa ij vkykspukRed izdk'k Mkfy,A 
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 (v) tula[;k ?kuRo dks ifjHkkf"kr dhft,A Hkkjr esa 

 tula[;k ?kuRo forj.k ds izfr:i ij ppkZ 

 dhft,A 

 (vi) LFkykd̀fr ,oa Hkw&vkÏfr foKku ds chp foHksn 

 dhft,A 

7. fuEufyf[kr esa ls fdUgha ik¡p iz'uksa ds mÙkj yxHkx 150 

'kCnksa (izR;sd) esa nhft, % 5 × 4 = 20 

(i) xaxk unh nzks.kh 

(ii) Hkkjr dh izkd`frd ouLifr dks izHkkfor djus okys 

 dkjd 

(iii) Hkkjr esa ty lalk/kuksa ds dksbZ Hkh pkj mi;ksx 

(iv) ou dVkbZ 

(v) lkSj ÅtkZ 

(vi) fo'kk[kkiV~Vue&xqaVwj vkS|ksfxd {ks= 

(vii) uxjh; lewgu 

                     ***  


